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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. General PART-II Examinations, 2016
ECONOMICS-GENERAL

PAPER-ECOG-II

Time Allotted: 3 Hours Full Marks: 100
The figures in the margin indicate full marks. 2 T RTE TGN 2T o7 At Fe!
Candidates should answer in their own words SAPBIIT TR TG AT Iy AR arwy
and adhere to the word limit as practicable. 2 Ce7 IR |

Group-A

o=
1. Answer any fen questions from the following: 2x10=20

frsfeRe @t 7 eras Tes fa:

(a) What do you mean by Gross Domestic Product?

(% SejEt Bt Ia0e [F @rim?

(b) Distinguish between Nominal and Real National Income.

IR @ 21T TS SR T AN T |

(c) What is Consumption Function?

(O ST FIE e T2
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Group-B
feet-4
Answer any five questions from the following: 16x5 =80
=S @-@m 2675 etz er e
2. Discuss any two methods of measuring national income. State the problems 10+6

related with these methods of measurement.

SIS o R @-@W i mie SiEsar a1 a3 ofte srafoefem
Retafe Tray dwd)

3. What are the functions of Money? Explain the Fisher’s Quantity theory of 4+8+4
Money. What are its limitations?

o diffed & e i wedn offdam ogf® g swa @@ ored
Arzeialm F F9

4. Explain the simple Keynesian Model of income determination. 16
SRR el e PR 9% 1w

5. What are the functions of a Commercial Bank? Explain the process of credit 8+8
creation by the commercial banks.

ifafers ATEe FidER & 6o 2AfAfere ATz e o fafo e aE)

6. Discuss the functions of the Central Bank. Explain the process of credit 8+8
control by the Central Bank.

FRT Y0 I SCEDH T4 | (TR AMEFF 2 ozt «mafsB g s+

7. Explain the classical theory of Employment. Is this theory acceptable? 10+6
Tzl T ot ©gi 11 T | @ OG F azel @isne

2047 3 Turn Over
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10.

11.

(a)

(b)

(c)

Define inflation. Discuss the different causes of inflation. What are the
effects of inflation?

WrRifee kel frd | TErdifea IR & & urdifes gorefa & &)

Distinguish between Intemal trade and International trade. Discuss the
Ricardian theory of Comparative Advantage of Intenational Trade.

oA ¢ GEEfeT AMMER Ty M IFN | WEGios e RFIwer
RIS I OO SCAGA] I |

Distinguish between Intemal and External Public Debt. Explain the burden
of Public debt.

GrerBAd @ ARPE FAFN 4T I GRIN | TRIN W QAR 2FFS
IEFEA|

Write short notes on any two from the following:

=g Bt ferg (@-c1R 775):

Relationship between marginal propensity to consume and multiplier.
QR @ A% (S SRS A 1|

Inflationary gap.

P ICER

Acceleration principle.

T3 NS |

(d) Arguments in favour of protection in Intemnational trade.

2047

S (E AAfre RIHC 0% L&)

2+8+6

4+12

8+8

8+8
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. General PART-II Examinations, 2016

ECONOMICS-GENERAL

PAPER-ECOG-III
Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks. e Tz w2 HIG ‘Z"{ﬂfﬂ faete FL31
Candidates should answer in their own words AN I TSI [T O A48 Ty

and adhere to the word limit as practicable. 2 BT P 1

Group-A
e

1. Answer any ten questions from the following: 2x10=20

RS @-cem i eltes e

(a) What is Co-operative farming?
IR 519 e

(b) What is the difference between cottage and small scale induswries?
Y 6 TO17 e Ty ~inda o

(c) What do you mean by ‘Tertiary sector’ of an economy?
RIS ‘GRS CFI’ IS & RIIA?

(d) In which year were commercial banks nationalized for the first time in
India?

SRS 2 (I AN AT TSI TFI FA TP

2048 Turmn Over
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(e) Mention two causes of low productivity in Indian agriculture.
SRR IR T8 Terlimaaeia 1o TR Sra 31
(f) What is the present rate of growth of industry in India?
SRS ISR e Jfard 7@ Fo?
(g) What do you mean by marketable surplus?
R sty Ty <eiee & @ame
(h) What are the two main sources of revenue of Central Government?
‘R TRIIEA SR G 24 T Bramd 611
(i) Mention two different forms of foreign capital.
TR 21 Roedt sifera S v
(J) What is “privatization”?
ARTRT
(k) What is Green Revolution?
ST e iy
() Give two examples of direct tax.
HITT IR 70 Twrzael a1
(m) Mention two obstacles to economic development.
st Sacma b aium Sre I
(n) What is Regional Rural Bank?
et oo g &)

(o) What do you mean by ‘vicious circles of poverty’?

‘wifdara 2o FeTe & @RI
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2048

Group-B
Temt-g

Answer any five questions from the following:

e @-em 250 v Ter fam:

Discuss the effects of Green Revolution in Indian economy.
oIS SRIfors TG [eitaa Fewe b 6+ |

Define poverty line. Discuss the measures taken by Government of India to
eradicate poverty. State your judgement on the success of these measures.

wRE @At 3 & @RIM? OF© IR F9F R vy TR FhHaf
FAE QA I | (R PSR AT 9 oA TOTS & I+ |

[llustrate the changes in the nature, direction and volume of India’s foreign
trade in the post liberalization period.

TRINFA AP OIS (Aerfars A epfs, oifS @ e @ #feda
(BIR ST AT F |

Discuss the credit control policies of Reserve Bank of India (RBI).

R3S Rete e 4o Wawe srafoafd wiena swa 1

Briefly discuss the sources of finance of large scale industries. What are the
problems of financing in case of small scale industries?

oS IR e o @nitae Teefe mewte SiwDAl IFF1 SRS
TSR RIS TEREAR CHT ' 4@0e4 T (Rt TP

16x5=80

16

2+8+6

16

16

8+8
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10.

2048

What are the causes of income inequality in India? Discuss the measures
undertaken to reduce income inequality in India.

TS GF RINEA IRl & [ orre ww @@w Fwice 7 & 39w
(STl ZLATR STEADAl FFA |

Discuss the present arrangement for the allocation of revenue between the
centre and the states in India.

O (T 6 AT WY ST IB(1d IO JIZR “HTSoa! FEA |

Discuss the role played by the public sector in Indian economy.
BIA0GA ALAIOTS FRFIA CFCIF GRS SCAGA %6 |

Explain in detail the success and failures of Five Year Plans in India.

OIS 2R sAfesmtalem AT 8 Ffor 7= m St FE)

8+8

16

16

16
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